WWK and Enfrgg Netes

Note Taking Guide - Episode 603, Part 1
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Is work being done on the box? Answer yes or no.

1) Student pushes box horizontally across the lab table. #ﬂi
2)  Student picks the box up vertically Le ,"6

3) Student holds the box still.

4) Student holds box still as he walks across room. NO‘
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What work is done when a refrigerator is pushed uniformly 12 m across the floor. A llal

The force of friction b’!’r een ﬂ)e floor and r'efr'lgera‘ror' is 480 N.
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WhaT work is done when a 2.5 kg package 'S?Ted uniformly e m?
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Problem Set #1: (1-3) Solve on back. W_ 21"5]\1 2|2ﬂ\
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